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Select the statement that best describes a condition.

. When given a group of spelling words the students will be able to put them in
alphabetical order

Fifth grade students will be able to state the six state capitals with 100%
accuracy.

Solution

Correct choice(s):

When given a group of spelling words the students wil be able to putthem in alphabetical
order. This tells the leamer that a group of spelling words are going to be given to them.
They are not expected to decide what the spelling words are. You remembered that the
condition states what the learner will be allowed to use

Incorrect choice(s):

Fifth grade students will be able to state the six state capitals with 100% accuracy. 'Be
able to state" is a behavior not a condition. Itis important to remember that when we are
dealing with a condition. The condition states the available resources. The correct answer
would have been: “When given a group of spelling words.." The resources here are the
spelling words. The student s told that they will be given the resources and will not have to
decide what the spelling words are. A condition can state the situation and setting for the
performance totake place. Remenber that the condition can tell the cue or stimulus used
in a performance objective. The condition states what the learner will be allowed to use.
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‘Mini-Lecture example 1: Since data analytics show that students come with low mastery of compound
inequalities (#3 and #4) we indetified the problem to be more of the the solution interpretation than the
algebraic manipulation. Hence, the mini lecture starts with a backward idea of giving a solution as graph
or interval and ask the student to find the compound inequality of that graph. Once the instructor or
teaching assistant discussed different scenarios with the students he or she asks them to solve question
3 and 4 and use question 1 to decide on the interval notation. Question 2 is considered a review and

only used to idetify students who may need additional review.

1. Write  compound inequalty for the graph shown below. 3. Solve the compound inequally.
2w-3>-11 and 4v+5229

Wit the soluton in interval notaton.
Hthere s no solution, enter .

4. Soive the compound inequalty.
Iy-5<-23 o 2y-25-4

Wit the soluton ininterval notaton.
‘Simlty your answer as much as possbe. Hthers s no solution, erter .
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Concept 3

Justas thereis o one right way to teach an entire class,thereis no one ight piece of contert that
Will work fo every student. Realizeit supports the use of altemaive content on every knowlecige:
item Thatis, multiple sources of content can be used o teach the same concept. When available,
Realizeit will automatically select the most appropriate source as the student begins leaming
However when the student is done with that content, the system will sk the student fthey are
happy or would ke to see an aternative. Realizetlearns which types of content workfor tudents
and when
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